MillLine
ungaloy

DA ESEEENY Y

poM=Eec.. ...

Tungaloy Report No. 548S1-J

DT ELEEET BIC
dA—F—R UL XEETY2IAYNILEF

TUNGALOY/




Of10]

oM =Ec R

NEBEREFZES5H5

EVLX08/10/12

RULGORERBMIARNEEAYS FOANESEETE P .
GAMF: A +0.2° ~ +1.3°, AN -15.7° ~ -15°

e P i
S e——— 2 LYa =
Al B9l - - ——-———— S RYR [ |
= LIa
90° o LS .
(KAPR) | _ LF N
& apmx  Apmx 2 G cicT DCONMS LS LH LF  WTkg) IFPR Av¥—k
EVLX08M016C16.0R02 7 4 16 2 16 100 30 130 0.18 »bh LXMUOQS...
EVLX08M016C16.0R02L 7 4 16 2 16 130 50 180 0.25 »Hb LXMUOQS...
EVLX08M017C16.0R02L 7 4 17 2 16 155 25 180 0.26 »Hbh LXMUOS...
EVLX10M020C20.0R02 9 4 20 2 20 110 35 145 0.31 Hb LXMU10...
EVLX10M020C20.0R02L 9 4 20 2 20 130 60 190 0.41 »bh LXMU10...
EVLX10M021C20.0R02L 9 4 21 2 20 160 30 190 0.42 »Hb LXMU10...
EVLX12M025C25.0R02 11 6 25 2 25 105 45 150 0.51 »Hbh LXMU12...
EVLX12M025C25.0R02L 11 6 25 2 25 150 75 225 0.77 Hb LXMU12...
EVLX12M026C25.0R02L 11 6 26 2 25 190 35 225 0.8 »bh LXMU12...
% & & /
7 & iRl 2/\F
E/HVLX08... CSPB-2.2 IP-7D
E/HVLX10... SR-M2.5x0.45-L6IP7 IP-7D
E/HVLX12... TS30100I/HG-P IP-9D
HESZHERHF NIV Y 0 CSPB-2.2, SR-M2.5x0.45-L6IP7 = 1 N-m, TS30100/HG-P = 2 N*m
HVLX08/10/12-M
RUIELHRNEABMIBEY 22914 7hvEY (927 T7Lv I ANE) GAMP: Hal\F] 2.6 ~ -4.4°, SHET +6.1° ~ +7.1°
RO EZETE GAMF: FD3 +0.2° ~ +1.3°, SAEH -15.7° ~ -15°

= . OAL _
at? T F _
¥ APMX

) ) - %‘@/\YV*
b wh |
e o Eall s L
= SR =
=] 8! \Q
Z 90° -—A y
3 (KAPR) "APMX 2 A-A BTE
& apmx APMmx 2T cict OAL  LF H DCSFMS CRKS WT(kg) IT7R AYH—h
HVLX08M016M08R02 7 4 16 2 42 25 10 14.5 M8 0.03 »bh LXMUOQS...
@HVLX08M017M08R02 7 4 17 2 42 25 10 14.5 M8 0.04 Hbh LXMUQS...
HVLX10M020M10R02 9 4 20 2 49 30 15 17.8 M10 0.05 Hh LXMU10...
@HVLX1OM021M10F{02 9 4 21 2 49 30 15 17.8 M10 0.06 Hbh LXMU10...
HVLX12M025M12R02 11 6 25 2 57 B85 17 23 M12 0.1 »h LXMU12...
@) HVLX12M026M12R02 11 6 26 2 57 35 17 23 M12 0.1 Bb LXMU12...
% 8 & /
7 & IRl ZJ\F
HVLX08M016M08R02 CSPB-2.2 IP-7D
HVLX10M020M10R02 SR-M2.5x0.45-L6IP7 IP-7D
HVLX12M025M12R02 TS30100I/HG-P IP-9D

MR F ML 0 CSPB-2.2, SR-M2.5x0.45-L6IP7 = 1 N-m, TS30100l//HG-P =2 N*m

2 DOMULTIREC


https://tungaloy.com/ttj/product/domultirec/

Y-k

LXMU-MM

W1 S
‘ B!S | R
RE RE
| E * | ¥

M XFYLZR *
| & Y| %
N sem
s muim Y| |k *  EER
[H =@En * Yo BIER
dA—=F4>Y
N o e
iR RE |APMX| & § 5 LE |W1| S | BS
I I T
<< <
LXMU080304PER-MM 04| 7 |®@ @ @ 77| 5 | 28 | 08
@ LXMU10T304PER-MM 04| 9 |®@ @ 10| 6 | 32] 12
LXMU10T308PER-MM 08| 9 @ @ @ 10| 6 |32 08
@ LXMU120404PER-MM 04| 11 |®@ @ 122 | 71 | 42 | 12
LXMU120408PER-MM 08| 11 |®@ ®@ @ 122 71 | 42 | 08
@ FHS
. — @ REFATL
A= NORDFIFEER
AV —RERBS>TEROITDE, AYIRTAEBRBEVERENHEET,
TRESEICKRE., BRENEVWEEERLTLIEIW,
\ SHEH | | 5 \
N B TN TEORERIR
i
| J@ |
—
\
\
| I
Sty S L O 1 EEORS
RE (mm) / | f -
| nmarEE mm)
FOEITES (mm)
DC D16 | D17 D20 | D21 D25 D26
Ao —k LXMUOS... LXMU10... LXMU12...
RE (mm) 0.4 0.4 0.8 0.4 0.8 0.4 0.8 0.4 0.8
FOER7ESE (mm) 0.43 0.86 0.1 0.24 0.86 0.86 0.45 0.45 0.86 0.86
FU0ER D PER (mm) 0.9 1.9 0.21 1.02 1.22 2.02 0.7 1.37 1.59 2.36
EmOMEE #9 0.3° FYy
tungaloy.com/jp 3



& 9]
I RS T Es
(ZEFP = 1)* XD / ANUAIVE *
_ AEHED
" VHEE  EERYDED
’ fz (mm/t
ISO #® H M B miE Ve (m/min)  f (mmirev) ( )
08 10/12
ER R
S15C, SS400 7 & - 200 HB AH3225 100 - 300 0.03 - 0.08 0.05 - 0.25 0.05-0.3
. S55C, SOMA40 13 & - 300 HB AH3225 100 - 250 0.03 - 0.08 0.05 - 0.25 0.05-0.3
TUN=R Vi
NAKEO, PX5 7 & 30 - 40 HRC AH3225 100 - 200 0.03 - 0.06 0.05-0.2 0.05-0.25
M SUsaos gulg§1ﬂf e - AH3225 80 - 180 0.03-0.08 0.05-0.2 0.05-0.22
LCEICS
. FG250, FC300 13 & 150 - 250 HB AH8015 100 - 300 0.03 - 0.1 0.05-0.25 0.05-0.3
9954 )ik
FCD400, FCDG00 75 & 150 - 250 HB AH8015 100 - 250 0.03 - 0.08 0.05-0.2 0.05 - 0.25
FIUEE
s T - AH3225 20-60 0.03 - 0.06 0.04-0.15 0.04-0.15
MEEE
s - AH8015 20- 40 0.03 - 0.06 0.04-0.15 0.04-0.15
SKD61 73:& 40 - 50 HRC AHB015 50 - 150 0.03 - 0.05 0.04-0.15 0.04-0.15
[SiEdEs i
SKD11 73:& 50 - 60 HRC AH8015 40-70 0.03-0.05 0.04-0.15 0.04-0.15
*TROBEE. 18 (ZEFP =1) OXD THREL TILE W,
- RBIMIET BB
s ANUARIINI T, I 2RENTEED 1.25 FUT OB
- “APMX 2" Z1BZ ZYIAH THERAT 3 (APMX 2 oW Tid, FROMIFEOFE SRR LS W)
I N T2 RE
bu ﬁ/ R AT
1 N N} = i
REID o g eI — <; Q
) ‘\ ‘ ‘
\ ' \ \ % (o) \ \ | |
- |
<A (s =5 |
= X &» LEEL
o =
<< [a N
< o
EWHE R®X R®X |-PN Ay T e N
RS RENTIE ERB  (AVALED. FRE) (NUAILED) RAEIHIIE
& U apmx apmMx2 A c RMPX oDmin oDmax oDmin oDmax  ae
E/HVLX08MO16.... 16 7 4 12 8 90° 17 30.75 16 3175 14
E/HVLX08MO17... 17 7 4 12 8.5 90° 19 32.75 17 33.75 15
E/HVLX10M020... 20 9 4 15 10 90° 22 37.95 20 39.15 18
E/HVLX10MO21.... 21 9 4 15 10.5 90° 23.35 39.95 21 40.95 19
E/HVLX12M025... 25 11 6 18.5 125 90° 26.65 47.85 25 48.95 23
E/HVLX12M026... 26 1 6 18.5 13 90° 28.65 49.85 26 50.95 24
*27 Y7 RYzUELTINICE 28E ERIE 5 mm TF,
IR EORSERBIMIT BBGZT Y TBNL KD TLET> TS W,
tungaloy.com/jp #2 & BB B Z 5 5

UAOQARRT ATV
facebook.com/tungaloyjapan
twitter.com/tungaloyjapan

Member IMC Group I

ungaloy

HEmOBHEWELE

2 YouTube

www.youtube.com/tungaloycorporation

RIE6EmIE

Tungaloy APP & SNS

O

FIND US ON THE CLOUD!
machiningcloud.com

ot SRR AN OF

AS9100 FREEEUS
B#RES 78006
Z$%H 2016.11.04
ISO 14001 FBAFANS
BRES ECO7J1123
Z§%H 1997.11.26

ERREDCHBEREFERL TVWET, Jan. 2023 (TJ)




